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A 1PC 1 M6 x 50mm aman—{J | 6 PCS
B 2 PCS 2 M8 x 30mm 8 PCS
C 1PC 3 M8 x 60mm amom{y | 4 PCS
D 2 PCS 4 M8 x 50mm omma{d | 6 PCS
5 M3.5 x 16mm amf | 8 PCS
E Lle 6 M8 x 30mm & | 4pcs
F BIRCS 7 M6 & |6pPCs
G 34 PCS 8 |[wms & |10PCS
H 2 PCS 9 |wms = [10pcs
| 2 PCS 10 @& |2rcs
J 1PC 11 &2 [aarcs
K 2 PCS 12 O 17 PCS
L 2 PCS 13 | m4 ] 1rc
14 |wms [ 1rc
15 | M4 x 20mm e [ 2pcs
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PROSZE NIE DOKRECAC SRUB DO KONCA (B, C), NALEZY TO UCZYNIC
DOPIERO W NASTEPNYM KROKU (PATRZ PKT 3 INSTRUKCJI)
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Prostokąt








